
1.  ?

(A) CH3Cl (B) CCl4 (C) CCl3CHO (D) CH2ClCH2Cl

2.  :-

(A) 1- (B) 2- (C) 3- (D) 

3.  ?

(A) HCHO (B) CH3CHO (C) CH3COCH3 (D) CH3CH2CHO

4.  :

(A) (B) (C) (D) 

5.  :

O O+  OH / 1
 [X]

[X]  :-

(A) 

OOH

(B) 

OH OH

(C) 

O
OH

(D) 

O

6.  :

(A) OH

O–
H

(B) 

H
O–

O– (C) 

H
O–

O–

H O3C
(D) 

H
O–

O–

O N2

7. 3-  NaBH4 D2O  :

(A) CH3CH2CH(OH)CH2CH2CH3 (B) CH3CH2CD(OH)CH2CH2CH3

(C) CH3CH2CH(OD)CH2CH2CH3 (D) CH3CH2CD(OD)CH2CH2CH3

8.  'B' :

CH  CH 2 4

4

30%H SO
HgSO A dil.NaOH

10 C
 B

(A) CH3COONa (B) CH3COOH (C) CH3CHO (D) C –CH–CH –CHO2H3

OH

9.   CH2Br  + Mg 3H Odry ether
3A+ CH CHO adduct B

   .

 'B' :

(A) CHCH3

OH

CHBr2
(B) 

OH

CHCHCH2 3

(C) CH–CH3 2

OH

CHCHCH2 3 (D) CH=CH2 CHBr2

EXERCISE-01 CHECK YOUR GRASP



10. 2- 3- ?

(A) CH3MgI (B) (CH3)2CuLi (C) CH3I2  Zn (D) CH3AlCl2

11. NaOH 

(A) 

OH

CH3 CH2 CH C O

H

(B) 

OH

CH3 CH2CH C O

H

(C) 

OH

CH3 CCH CH3

O

(D) O

OH

CH2 CH2CH2

H

C

12.

(A) (B) 

(C) (D) 

13.

 
CH3

C O
CH3

2I
Alkali (ppt )

A Ag
B 2 4

2

dil H SO

HgC

A, B C 

(A) (B) 

(C) (D) 2–

14.

RCOCl + H2
4Pd BaSO  A HCNB 3H O  C

A, B C 

(A) RCHO, RCH(OH)CN, RCH(OH)CH2NH2 (B) RCHO, RCH(OH)CN, RCH(OH)COOH

(C) RCHO, 

CN

R C

O

CH2,R C

O O

CH2 C OH (D) RCHO, R–CH2–CN, R–CH2–COOH

15. 2– –1,2–

(A) (B) 

(C) (D) 

16.

(A) (B) (C) (D) 

17. A, HCN B (Optically

active) C A A, B C 

(A) HCHO; 
H

H
C

CN

OH
 ; 

H

H
C

COOH

OH

(B) CH3CHO;
CH3

H
C

CN

OH
 ;

CH3

H
C

COOH

OH



(C) CH3CH2CHO; 
CH2 5

H
C

COOH

OH
 ; 

CH2 5

H
C

CN

OH

(D) 
CH3

C O
CH3

 ; 
CH3

C
CN

OH
CH3

 ;  
CH3

C
COOH

OH
CH3

18.  

(A) (B)

(C) (D) 

19.

(A) HCHO (B) CH3CHO (C) CH3COCH3 (D) All the above

20.

O
 

( )

( ) ( )

i CH NH

ii LiAlH iii H O

3 2

4 2

 
 –

(A) 
NHCH3

OH
(B) 

NHCH3 (C) 
NHCH3

OH
(D) 

ONHCH3

21. 50% NaOH  :

(A) C6H5CHO (B) CH3CH2CH2CHO (C) CH3COCH3 (D) C6H5CH2CHO

22.

(A) 
CH3

CH3

C O (B) 
CH3

H
C O (C) 

H
C O

H
(D) 

23 .  ?

(A) CH6 5 C

O

CH3
3(i) CH MgBr

(ii)H (B) CH6 5 C

O

CH3 
4

2O
(i ) LiAlH
(ii ) H

(C) 3
4(i) LiAlH

(ii) H
CH —CHO  (D) CH3 C

O

CH3 2

(i )H
(ii) Br


24. NaHSO

3
 

(A) CH3CHO (B)CH3 CH OCH3

CH3

(C) CH3 C

CH3

O (D) HCHO

25.

(A) (B) (C) (D) 

CHECK YOUR GRASP EXERCISE -1ANSWER KEY
Qu e. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Ans . C B A B D C C D B B B B B B B C B D B B

Qu e. 21 22 23 24 25

Ans . A D B B C



1.

O

O

CH3 
(i)NaOI,

(ii) H ,
A B  

A  B  :

(A) 

COH2

O

CH3

I
I

I
(B) 

O

I
I

I O

(C) 

O

I
I

I COH2
(D) 

O

I
I

I

2. LiAlH4 

?

(A) CH3CH2CHO (B) CH3CH2CO2CH3 (C) CH3CH2OCH2CH3 (D) CH3COCH3

3. -

(A) CH3COCl (B) CH3CHO (C) CH3COOCH3 (D) CH3COOCOCH3

4. ?

(A) CH3CH2CH2OH (B) CH3OH (C) CH3CHO (D) PhCOCH3

5. ?

(A) 

O OCH3

OH
OH

(B) 
O

HO
OH

O

(C) CH–CH–CH3

OH OH

(D) 

OCH3

OCH3

6.

O
Ph

O

Ph    OH  A. A  :-

(A) 

OH
Ph

O
Ph

(B) 

Ph OH

CO 2Ph  (C) 

Ph

Ph

 O

OH


(D) 

EXERCISE–02       BRAIN TEASERS



7. , [X]  :

[X] KMnO /OH /4
  HOOC(CH)  – CH – COOH2 3

CH3

 ;  [X]  :-

(A) 

O

(B) 

O
CH3

(C) 

O

CH3 (D) 

O

CH3HC3

8.  : H C2 O

(i) BH /THF3
(ii) H O /OH2 2

NaBH4

(B)

 (A)

(A)  (B)  :

(A) H C2 OH  HOCH2 O (B) H3C OH  HOH C2 O

(C) H2C   HOH C2 O (D) H3C OH  CH3 O
HO

9. ,

2Ph – CHO 
—

OHPh – CH2OH + PhCO 2
1

 :

(A) 1OH 

(B) 

(C) 

(D) Ph – CH2OH 

10.

CH2 = CH2 
HBr  X Hydrolysis  Y 

Na CO2 3
l excess2

 Z :

(A) C2H5Br (B) C2H5OH (C) CHI3 (D) CH3CHO

11.  ?

(A) 

(B) C6H5CHO + C6H5CHO NaOHC6H5CH = CHC6H5 + O2 -

(C) pKa ( ) pKa ( ) 

(D) CHCCH + CHCHO3 3 3

O

 NaOH CH– C – CH CHO3 2

OH

CH3

 



12. CH3 – CHO OHCH3CH(OH)CH2CHO

 ?

(A) H C2

O

H


(B) H C–

2

O

H


(C) H C3

O

H
O


(D) H C3

O

H
CH2

O



13. m-  50% KOH  :

(A) 

COO–

Cl

(B) 

CH OH2

Cl

(C) 
CH – CH

Cl Cl

OH OH

(D) 
CH – CH

OH OH

OH OH

14.  

O

 

O

O

(A) H2O, H2SO4 (B) O2 (C) 

O

CH6 5 COOH (D) CrO3, H2SO4

15. ?

H
(d)

(b) (a)

CH CH

O

CH2C

HH
(c)
H

(A) a (B) b (C) c (D) d

16.  C3H6O 

(A) CH2= CHCH2OH (B) CH3CH2CHO (C) CH2= CHOCH3 (D) CH3COCH3

17. NaOH  :

(A) 

OH

O

(B)  

OHOH

(C)

O

(D) 

O

O



18. (B) ?

O

 
NBS

CCl4
 A 

aq.KOH
B

(A)

OH
O

(B) 

O

(C) 

COOK

(D) 

O

O

19. 2- :

(A) 

O

CHO

(B) 

O

CH3

O
(C) 

O

CH3

O
(D) 

OHC3

O

20.

O

 
1. (CH) CuLi3 2

2.HO3
+ A.

(A) :

(A)  

OHCH3

(B) 

O

CH3

(C) 

O

CH3

(D) 

OHHC3

CH3

Que. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Ans . D D A A,B A,B,C B B A B B,C,D C,D A,B,C A,B C C

Que. 16 17 18 19 20

Ans . D C C C C

BRAIN TEASERS EXERCISE -2ANSWER KEY



 (True / False)

1.

2.

3. K2Cr2O7/H

4.

5.

6.

7. LiAlH4 

8.

9.

10.

  (Fill in the blanks)

1. CH3MgI ....... 

2.  .................. ................... 

3. .................. 

4. .................. 

5. ..............  .............

6. - ..................

7.  A (.........)  B (NaOH +..........)  

.................. 

8.  .................. 

9. ................ ............... 

10. .................. 

(Match the column)

1. I   II 

-I -II

(A) C6H5CHO (p ) 2,4–

(B ) CH3C  CH ( q ) AgNO3 

(C ) CN– ( r )

(D ) I– ( s )

EXERCISE–03 MISCELLANEOUS TYPE QUESTIONS



2. I   II 

-I -II

(A)
n carbon
RMgX  + HCHO (p )

Adduct 3H O

(B )
n carbon
RMgX  + (CH2)2O ( q ) 1º (n + 1) 

Adduct 3H O

(C )
n carbon
RMgX + CO2  ( r )  (n + 1) 

Adduct 
3H O

(D )
n carbon
RMgX  + Ph–CN ( s ) 1º  (n + 2) 

Adduct 3H O

3.

(1  4 ) 

CHO

OH

(1)

     
OH

(2)

O

    
CH

O

(3)

     

(4)

CO C H52 2

CO C H52 2

            -I  [ ]        -II [ ]

(A) CH2– CHO (p ) CH2 = O

(B )  O ( q ) CHO

(C ) O ( r ) O

(D ) CH2

CO2C H2 5

CO2C H2 5

( s ) CH  – CHO2

(Assertion & Reason)

- I - II 

(A) - I - II - II, - I 

(B) - I - II - II, - I 

(C) - I - II 

(D) - I - II 

1. -I : 2,2- NaOH 

-II : 



2. -I : 

-II : –

3. -I : 

-II : –I 

4. -I : 

-II : 

5. -I : R–CO+  R–C+=O 

-II : C—   O– 

6. -I : HCN NaCN 

-II :  CN– 

7. -I : 

-II : 

8. -I : 

-II : 

9. -I : 

-II : –I  +R >C = O 

10. -I : 

-II : sp2 

 (Comprehension Based Questions)

 # 1

>C=O 

1.  L+ Nu Nu L+
O

R

O

R
  ?

(A) Nu L 

(B) Nu– 

(C) Nu– 

(D) 



2.  ?

(A) R
O

H
(B) R

O

Cl
(C) R

O

OH

(D) R
O

OR'

3. :

(A) H C3

O

Cl
(B) 

H C3

O

NH

H C3

(C) 

H C3

O

NH (D) 

H C3
O

NH

O N2

 # 2

1. ?

(A) 

(B) 

(C) 

(D) 

2. /  ?

(A) 

(B) -

(C) 

(D) (A)  (C) 

3. NaCN/H+  ?

(A) H C5 6

O

H
(B) 

H C3

O CHO  (C) H C3
H

O
   (D) NC

O

H

4. ?

(A) (B) 

(C) (D) 

 # 3

C=O 

( )

C=O
+ –



,

(–I.E.) (+I.E.) 

1.  ?

(A) FCH2CHO (B) ClCH2CHO (C) BrCH2CHO (D) ICH2CHO

2.  :

(A) HCN (B) NaHSO3 (C) (CH3OH + HCl) (D) 

3. ?

(A) C=O
CH2 5

CH3

(B) C=O
CH3

CH3

(C) C=O
CH3

H
(D) C=O

H

H

4. :

(A) CH–6 5 –C––CH6 5

O

(B) CH–6 5 –C––CH3

O

(C) CH–6 5 –C––H

O

(D) CH–3 –C––H

O

5. ?

(A) CH3––CH––CH––CH––C––H2 2 2

O

(B) CH3––CH––CH––C––CH2 2 3

O

(C) CH3––CH––C––CH––CH2 2 3

O

(D) 


1. F 2. T 3. T 4. F 5. F

6. F 7. T 8. T 9. F 10. F


1. HCHO 2. HCHO, NH

3
3. 

4. 5. , - 6. 

7. CuSO
4
, , Cu

2
O 8. 9. , 

10. 


1. (A) p,s ; (B) q,r ; (C)  q,r,s ; (D) q,r 2. (A) q ; B s ; (C)  r ; (D) p
3. (A) s ; (B) p ; (C)  q ; (D) r


1.  D 2.  A 3. A 4.  D 5.  B

6.  A 7.  B 8. B 9.  A 10. A


 #1 :  1. (D) 2. (A) 3. (B)

 #2 : 1. (D) 2. (D) 3. (D) 4. (D)

 #3 : 1. (A) 2. (D) 3. (A) 4. (A) 5. (A)

MISCELLANEOUS TYPE QUESTION EXERCISE -3ANSWER KEY



1. p-MeOC6H4COMe  p-NO2C6H4COMe 

 ?

2. (A)  (B)  PhCH2CHO 2SeO (A) 
–(i )con.OH

(ii )H (B)

3.   (a) PhCOEt  p-MeC6H4COMe 

      (b)

(i) CH3CHO, C6H5COC6H5, CH3COC6H5,CH3COCH3

(ii) CH3CHO, CF3CHO, CH2 = CHCHO

4.  X C9H10O 

n- X 

5.   (a) CN— 

?

     (b)

6.

(i) 

O

 2SeO  (ii) O + 
Cl

OEt
O

 base
?

7.  :

(a) H C3

O

CH3

+HC CH 2

3

( i )NaNH

(ii )H O  ?

(b) H C3

O

CH3

+ 
O

Cl
O

C H2 5

 2NaNH

8. (A)  (B) CH2O (B) (A) 

(A) NaHCO3 (B) NaHCO3

(A)  (B)  ? (B) 

NaHCO3 

9.  :

HC  CH 2NaNH ? 3CH Br ?
2Hg / H

H O2

 ? H
CH3

O
H3C

OH

H3C
I2

NaOH

10. (A)  (B) C5H10O (A) NaOH ( ) 2, 2-

-1- 2, 2- (B) NaOH ( ) 3- -

2- A B  ?

EXERCISE–04 [A] CONCEPTUAL SUBJECTIVE EXERCISE



CONCEPTUAL SUBJECTIVE EXERCISE EXERCISE -4(A)ANSWER KEY

1. MeO

(1)

C

O

Me MeO C

O–

Me

(–OMe having +R)

+

N

O–

O (1)

C

O

Me N

O–

C

O

Me+

(–N  having –R)2O

++

O–

I, II (I), (II) 

MeO C

OH

Me MeO C

OH

Me

+

+

(X)

N

O–

O

C Me N

O–

Me
+

OH
+

(Y) O–

C

OH
+

+ +

(X) (Y) 

(X), (Y) 

2. (A)  C8H6O2 = C6H5 –

O

C–CHO   ; (B)  C8H8O3 = C6H5–CHOHCO2H

3. (a) I II 

(b) A =      C6H5COC6H5 < CH3COC6H5 < CH3COCH3 < CH3CHO

B =      CH2=CHCHO < CH3CHO < CF3CHO

4. (i) X 

     >C=O + H2N.NHCONH2 > C = N.NHCONH2

(ii) 

(iii) 

(iv) ; X 

    
H C5 6 C.C CH3H .2

O

(v) n-



5. (a)

    C

CN

O–

(b)

6. (i)

O
O

   ;    (ii)     

O

O

OEt

7. (a) H C3 OH

H C3
HC

 ;    (b)  O
H C3
H C3

O

O
C H2 5

8. A = HCHO ( ) B = HCOOCH3 ( )

9 . HC  C—Na+  ;   H C—C  3  CH ;   H C3
CH3

O

   ; H C3

CH3

OOH

ONa
+ CHI3

10. A = H C3

CHO

CH3

CH3

    ;   B = H C3 CHO



EXERCISE–04 [B] BRAIN STORMING SUBJECTIVE EXERCISE
1. (A)  (D)  :

(i) 3(CH3)2C=O HCl (A) 

(ii) CH3COCl + H2 
(B) (C) 

(iii) (D) 2 2

2 5

( i ) NH NH
(ii ) C H ONa CH3CH2CH3

(iv) (D) OBr1
CHBr3 + CH3COO1

2.  (X)  (Y) (P) (Q) C6H5CH2C(CH3)2OH 

(X), (Y)  (Q) 

3. (a) 2- -1,3-

(b) HCN, CH2 = CHCOOH  RCH = CHR 

4. C5H10O 

Zn—Hg HCl n-  ?

5. (a) 

    PhCHO  PhCH = CHCOPh 

(b)  A, B, C  D 

   

[A]

Acetic anhydride
C H O29 8

[B]

[C]

Br2 C H O29 8 2Br
[D]

C H O7 6 C H O14 12 2

Alc.

KCN

CH COONa3

6. (A) B B 

C D  Zn D 

A, B C 

7.  :

(i) 

O

 + H C—C CNa3   3NH
Low Temp.

 H O3
 (A)

dil H SO2 4
2Hg  (B)

(–H O)2 (C)
( i ) OsO / H O,OH4 2

(ii ) HIO4
1 (D

   A  D (D) IUPAC 

(ii) 

O

H C3

CH3

O
 

2

NaOH
H O.100 C

(A)

8. , B A 

A H2SO4 

C 0.4 g C 0.08 g 0.39 g  CO2 1g 

0.71 g A, B C 



9.  :

(a)

(b)

(c) HBr 

10. A, B C  ?

O

CH3
2 4Br (1eq.) NaBH dil.OH(A) (B) (C)  1

1. (i)
H C3

O
H C3

3 dryHCl H C3

CHCOCH
H C3 CH3

CH3
 

(ii) CH3COCl + H2 
4Pd / BaSO

quinoline CH3CHO + HCl

(iii)
H C3

CO
H C3

 2 2

2 5

NH NH
C H ONa  CH3CH2CH3

2. If X is Ph – CH2Mg X, then P is CH  – C – CH3 3

O

and if Y is CH3 – MgX, then Q is 
CH3

Ph
O

3.    (a) 2- 1, 3-

O
CH3

H

O

 –H

O
CH3

O

O
CH3

O

 O
CH3

O

 

(b) –COOH 

H C = CH – C – OH2

O

C – CH = C – OH

O

H2

+ HCN NC – CH  – HC = C – OH2

O

 N  – CH  – CH – C – OH2C

O

 H NC – CH  – CH  – C – OH2 2

O

4. (i) C5H10O 

(ii)

(iii)

O

CH  – C – R3 R – 

: R= —C3H7

 
CH3

H C3

O
 

O

H C3

CH3

CH3

(iv) n- ; R n-

BRAIN STORMING SUBJECTIVE EXERCISE EXERCISE -4(B)ANSWER KEY



5. (a) CH3MgI, H3O
+, H+/K2Cr2O7, PhCHO/ OH,1

(b) A = C6H5CHO         ;   B = PhCH(OH)COPh   ;

C = C6H5CH=CH—COOH  ;   D = C6H5CHBr—CHBr—COOH

    

CH3
H C3

O
4[H]

Zn–Hg + HCl CH3
H C3

pentanepentan-2-one

C H56

NH

N

CH3
H C3

O

O Na  + 3NaI + 3H O2
CHI  + 3 H C3

2CuO
No reaction

C H NHNH6 5 2

– H O2

3I +4NaOH/2 

6. A = 
H C3

O
CH3  ;   B = 

H C3

OH
CH3  ; C = H C3

CH3
 ;  D = 

OO

CH3

H C3
O

7. (i) A = 

OH
CH

 ; B = 

OH CH3

O  ;   C = 

O

CH3   ;   D = OHC

O

O

CH3

6,7-dioxooctanal

(ii) 

O

CH3

8. A = HCOOH   ;   B = CO    ;  C =COOH

COOH

9. (a)

(b) >C=O H C—H O 

–I H 

–CHO H (OH) 

(c) HBr >C=O 

OH

H C3

H C3

Br

HBr 

10. (A) : 

O

CH2Br  ;   (B) : 

OH

CH2Br    ; (C) : 

O

CH2



1. : [IIT-90]

(A) (B) 

(C) (D) 

2. - [IIT-90]

(A) 9 , 1   2 (B) 8 , 2  2 

(C) 10 , 1   1 (D) 9 , 2  1 

 3. m– KOH : [IIT-91]

(A) m- n-

(B) m- m-

(C) m- m-

(D) m- m-

4.  Pd BaSO4  : [IIT-92]

(A) (B) 

(C) (D) 

5. C3H6O, 2,4-

- [IIT-93]

(A) CH3CH2CHO (B) CH3COCH3

(C) CH2=CH–CH2OH (D) —OH

6. - [IIT-95]

(A) (B) 

(C) (D) 

 7. P  : [IIT-95]

CH3

CH3

CO
SeO2 P + Se + HO2

(A) CH3COCHO (B) CH3COOCH3 (C) CH3COCH2OH (D) None

8.  2 Ph –CHO OH
 Ph–CH2OH + PhCO2

1  -

(A) OH1 [IIT-96]

(B) 

(C) 

(D) Ph–CH2OH 

 EXERCISE–05 PREVIOUS YEARS QUESTIONS



9. I2/NaOH - [IIT-97]

(A) ICH2COCH2CH2 (B) CH3COOCOCH3

(C) CH3CONH2 (D) CH3CH(OH)CH2CH3

10. - [IIT-97]

(A) MeCOCl (B) MeCHO

(C) MeCOOMe (D) MeCOOCOMe

11. - [IIT-97]

(A) CH – C – O6 5 

H

OH

 (B) CH – C – O6 5 

H

O




(C) 
ON2

H

O
O
 (D) 

CHO3

H

O
O


12. CH3CHO + H2NOH  CH3 –CH = N – OH. - [IIT-97]

(A) pH = 1 (B) pH ~ 4.5 (C) pH (D) pH = 12

 13. > C = N–  - [IIT-98]

(A) C6H5NH2 (B) (CH3)3N (C) C6H5NHC6H5 (D) C6H5NHNH2

 14. 1- (HgSO4+H2SO4) - [IIT-98]

(A) CH3CH2–C

O

–CH3 (B) CH3CH2CH2CHO

(C) CH3CH2CHO + HCHO (D) CH3CH2COOH+HCOOH

15. - [IIT-98]

(A) (B) 

(C) (D) 

16. - [IIT-98]

(A) CHCl3 (B) Cl3CCHO (C) CCl4 (D) ClCH2CH2Cl

17. D2O - [IIT-99]

(A) CH–C–CHD2 2

OH

(B) CD=C–CD2 3

OH

(C) CH=C–CHD2 2

OH

(D) CD=C–CD2 3

OD

18. -      [IIT-2000]

(A) 3- (B) 2, 4- (C) 2, 5- (D) 2, 3 

19. -  [IIT-2000]

O

CH3


OH

  

CH2CH3

OH

(A) Zn (Hg), HCl (B) NH2NH2,OH– (C) H2/Ni (D) NaBH4



 20.  : [IIT-01]

Statment-I : 

Statment-II : 

(A) 

(B) 

(C) 

(D) 

21. NaOH - [IIT-01]

(A) (B) 

(C) (D) 

22. A ( C3H8O) B (C3H6O) 

B B H2NCONHNH2. HCl 

C - [IIT-02]

(A) CH3CH2CH=NNHCONH2 (B)CH3–C=NNHCONH2

CH3

(C)CH3–C=NCONHNH2

CH3

(D) CH3CH2CH=NCONHNH2

23. : [IIT-02]

CHO OHC

OHC

(i) NaOH(excess) 100 C º
(ii) H /HO


2

CHO

(A) 

COOH

COOH HOOC

HOOC

(B) 

CHOH2
CHOH2

CHOH2
CHOH2

(C) 

CHOH2
COOH

CHOH2
COOH

(D) 

O

O

O

O



24.

OCOCH3

OCOCH3
P

Q

  
Acidic

Hydrolysis [IIT-03]

 Q  :

(A) 2, 4-DNP (B) (ZnCl2  HCl)

(C) NaHSO3 (D) 

25. 2– - [IIT-05]

(A) NaOH, I2/H+ (B) (C) (D) NaOH, NaI/H+

26. CH–C–CH+ 3 3

O

NHOH2

[IIT-06]

/ :

(A) 3- (B) 2-

(C) (D) 

27.
CH–CH–CH–Cl3 2 2

AlCl3
P Q

(i) O/2 
(ii) HO3

  +  , P  Q  - [IIT-06]

(A)    CH– C–H3 CH–2

O

(B)    CH–C–3 CH3

O

(C)     CH–C–3 CH3

O

(D)   CH– C–H3 CH–2

O

28. O

O

C
  - [IIT-06]

(A) 
CHO

CHO
(B) 

COOH

CHO
(C) 

COOCH3

CH3

(D) 
COOCH3

COOH



29. 69.77%C  11.63% H 86 

 ? [IIT-87]

30. ? [IIT-91]

31. 'A' 'B'  'C' 

'C' 'B'  'D'  'D' KMnO4 

'B' 'B' Ca(OH)2  'E' (C3H6O) 

E 2,4-

(A), (B), (C), (D)  (E) [IIT-92]

32.  :

(i) —CHO HCO—3 + HCHO  KOH (A) (B) [ IIT-92]

33.  :

 C6H5 – CHO + CH3 – COOC2H5 2 5

2 5

NaOC H in absolute
C H OHand heat

(A) [ IIT-95]

34.  : [IIT-96]

CH3

H

O  2 4

4

( i )KCN / H SO
(ii ) LiAlH (X)

35.  ( ) [IIT-96]

CH3

CH3

    4dil KMnO (A) 4HIO (B) 
–OH (C)

36.  : [IIT-98]

O

 [A ]  

CHC H56

O

4( i ) LiAIH

(ii )H ,heat [B]

37.   'A' (C8H8O) NH2OH.HCl 'B' 'C' 'B'  'C' 

'D'  'E' B, C, D  E  (C8H9NO) 'D'

KOH 'F' (C6H7N) 'F' CH3COCl 

'D' 'E' 'G' (C7H6O2) 

'A'  'G' [IIT-99]



38. [IIT-99]

    H
H C3

H C3 O

CH3

39. (A), C6H10O CH3MgBr (B) 

(B) (C) , 1- (D) 

(B)  HBr (E) (A), (B), (C)  (E) (D) (C) 

[IIT-2000]

40. (A)  H2 (B) (C) (A) (D)C2H4O

 (E) C2H2O2 (B) (A) (E) 

 ? [IIT-01]

41.  + X   COONaCH3   ; X ? [IIT 2005]

(A) CH3COOH (B) BrCH2, COOH (C) (CH3CO)2O (D) CHO–COOH

42. NH2OH 

(A) (B) 

(C) (D) [JEE 2006]

43. Zn E KOH 

F F [JEE 2007]

(A) (B) (C) (D) 

44. -1 : [JEE 2007]

-2 : CuO 

(A) 

(B) 

(C) 

(D) 

45.  I II [JEE 2007]

 I  II

(A) C6H5CHO (P) 2,4-

(B) CH3CCH (Q) AgNO3 

(C) CN– (R)

(D) I– (S)



46 48

(reaction sequence) I, J  L K (reagent)

Hex-3-ynal 
3

4
PBr.2

NaBH.1    I   OH.3
CO.2 ether/Mg.1

3
2

 J K
 Me Cl

||O
 

quinolinePd/BaSO
H

4
2  L

46. I [JEE 2008]

(A) Me Br (B) Br
Me

(C) Me Br (D) 
Me Br

47. J K [JEE 2008]

(A) Me COOH    SOCl2 (B) Me
OH

||O   SO2Cl2

(C) 

COOH
Me    SOCl2 (D) Me COOH  CH3SO2Cl

48. L [JEE 2008]

(A) 
Me CHO (B) Me CHO

(C) 
CHO

Me (D) CHOMe
49 51

(tertiary alcohol)  'H' 'I' 'I'

(ozonolysis) 'J' 'K' 'J' KOH 'L'

'K' KOH  'M'

M = 

O
Ph

HPh

H C3

49. 'H' [JEE 2008]

(A) 
||O

Ph CH3
  +   PhMgBr (B) 

||O
Ph CH3

   + PhCH2MgBr

(C) 
||O

Ph H      +  PhCH2MgBr (D) 
||O

Ph H     +   

Me
Ph MgBr

50. 'I' [JEE 2008]

(A) 

CH3

H
Ph

Ph
(B) H

H C3 Ph
Ph

(C) H
CH3Ph

CH Ph2
(D) 

Ph

H C3 CH3

H



51. 'J', 'K' 'L' [JEE 2008]

(A) PhCOCH3, PhCH2COCH3  PhCH2COO¯K+ (B) PhCHO, PhCH2CHO  PhCOO¯K+

(C) PhCOCH3, PhCH2CHO  CH3COO¯K+ (D) PhCHO, PhCOCH3  PhCOO¯K+

52 54

P MeMgBr 

Q Q R 

S [JEE 2009]

P 


  

,SOH.3 OH,H.2
MeMgBr.1

42
2

Q OH,Zn.2
O.1

2
3   R   .2

¯OH.1
 S

52. P :- [JEE 2009]

(A) MeO (B) Me
Me

O (C) EtO (D) 

Me

O

53. Q R : [JEE 2009]

(A) 

Me Me
Me , 

MeMe
HCOMe

O
(B) 

Me Me
 ,

MeMe
HCHO

O

(C) 

Me Et
 ,

EtMe
HCHO

O
(D) 

Me

Me
 ,

EtMe
CH3CHO

O

54. S : [JEE 2009]

(A) 

O

Me
(B) 

OMe Me
(C) 

O

Me Me
(D) 

O
Me

55  56 

 C
6
H

10 
(acyclic) P 

Q [JEE 2011]

P(C H )6 10
Q(i) dil H SO /HgSO2 4 4

(i) conc.H SO
     ( )
           (–

2 4

H O)2

(ii) O  
(iii) Zn/H O3

2

(ii) NaBH /
(iii) dil.acid

4
2 H C3

C CH3

O

55. P  -

(A) CH
3
CH

2
CH

2
CH

2
–CC–H (B) H

3
CH

2
CC–CH

2
CH

3

(C) 

H C3

H C3

H–C–C C–CH 3 (D) 

H C3

H C3
H C–C–C C–CH3 3

OH

H



56.  Q  -

(A) 

H C3

H C3

H–C–C–CH CH2 3

OH

H
(B) 

H C3

H C3

H C–C–C–CH3 3

OH

H

(C) 

H C3

H C3

H–C–CH CHCH2 3

OH
(D)CH CH CH CHCH CH3 2 2 2 3

OH

57.  (aldol reaction(s)) [JEE 2012]

OH

OH

OH

HO
CH3CHO + 4HCHO NaOH

(A) 1 (B) 2 (C) 3 (D) 4

58. P, Q, R  S  : [JEE 2013]

Cl
 3AlCl P    NaH Q

O O  4 2 3(NH ) CO
100 115ºC  R

O
 HCl   S

(A) P (B) Q (C) R (D) S

59. (I II) 

 I : H C3 CH3

O
(1.0 mol)  2Br (1.0  mol)

aqueous /  NaOH [JEE 2013]

 II : H C3 CH3

O
(1.0 mol)  2

3
Br (1.0  mol)
CH COOH

H C3 CH Br2

O
H C3 Br C3 BrH C2 H C3 CHBr3CBr3 CBr3 CH Br2 ONa

O O O O

P Q R S T U
(A) I : P II : P

(B) I : U, II : Q, 

(C) I : T, U, II : P

(D)  I : R, II : S 



1. (B) 2. (A) 3. (D) 4.(B) 5. (C, D) 6. (D) 7.(A) 8. (B) 9. (A)

10. (A) 11. (D) 12. (B) 13. (A) 14. (A) 15. (C) 16. (B) 17. (C) 18. (B)

19. (B) 20. (A) 21. (A) 22. (A) 23. (C) 24. (D) 25. (A) 26. (A) 27. (C)

28. (A)

  29. (i)

%

C 69.77        5.76     5
H 11.63        11.63    10
O 19.20         1.2     1

   C5H10O.

 = 86

 = 86

   C5H10O.

(ii)

(iii)

(iv) H C3

O
 

(v)

CH .CH .CH .C.CH3 2 2 3

O
-2-

  

H C3

H C3

CH3

O
3- -2-

30. CHI3  :

CH3COCH3 
OI1

 CH3COCI3 
OH1

CH3COO– + CHI3

OI– I– OI– 

31. A = 
H C3

O

O
H C3

O

   ; B = H C3
O

OH
 ;   C = 

H C3

O

O

H C5 2

  ;   D = H5C2 – OH  ;  E = H C3

O

CH3

32. A = —OCH3HOHC—2 B = HCOOK

33. C6H5CH = CHCOOC2H5

34. KCN + H2SO4  KHSO4 + HCN

CH3

H

O + HCN  

H5C2 OH

H CN
 4LiAIH  

H5C2 OH

H NH2

1- -2-

PREVIOUS YEARS QUESTIONS EXERCISE -5ANSWER KEY



35. A = 

CH3

CH3
OH

OH
;   B = 

O

CH3

O

H C3

   ;       C = 

CH3

OH

O
( )

36. A = C6H5CHO, B = 
C H56

37. A = 

O

CH3        ;     B = 
H5C – C – CH6 3

N – OH
   ;   C = 

H5C – C – CH6 3

OH – N

D = 
H3C– C – NH 

O C H6 5
  ;      E = 

H5C – C – NH6

O CH3
  ;    F = H5C6 – NH2

G = H C5 6

O

OH

38. CH3CH2C  CH
3

Na ln
liquid NH CH3CH2C  CNa 3CH X

–NaX
CH3CH2C  C—CH3

      
4

2 4

HgSO
H SO

 O

CH3

H C3

-2-

39. A = 

O

     ;     B = 

CH3

    ; C = 
O

H
O

H C3

D = 

COCH3

   ; E = 

CH3

Br

40. A = H C3

CH3
B = H C3

CH3 C = H C3

CH3 D = H3C – CHO

E = CHO

CHO

41. C 42. B 43. A 44. C 45. (A) P, S; (B) Q; (C) Q, R, S; (D) Q,R

46. D 47. A 48. C 49. B 50. A 51. D 52. B

53. A 54. B 55. D 56. B 57. C 58. A,B,C,D

59. C



 (– COOH)   ( C

O

) 

(—OH) 

C

O

+ —OH  C

O

OH

H – CnH2nO2 


 (RCOOH) :

- CnH2nO2

(n = 1, 2, 3.......) 

Example : CH3COOH  

  : 

Example :
COOH

COOH
 

Example :  HO C COOH

CHCOOH2

CHCOOH2

       

IUPAC 

HCOOH  ( )

CH3COOH  ( )

CH3CH2COOH  ( )

CH3CH2CH2COOH  ( )

CH3CH2CH2CH2COOH  ( )

C5H11COOH

C7H15COOH

C9H19 COOH

 :

1. KMnO4  K2Cr2O7 

R–CH2OH + [O] 
KMnO / H4

K Cr O / H72 2


   RCHO + H2O [O]  RCOOH


